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QUESTION NO: 1

Which statement would return the username of the currently logged-in user?

A. session.userName

B. session.properties[“cm:userName”]

C. person.userName()

D. person.properties.userName

ANSWER: D 

Explanation:

References: https://community.alfresco.com/thread/166713-javascript-name-of-current-user

QUESTION NO: 2

When are Alfresco-specific database tables created within the database?

A. On the first login by the “admin” user.

B. Prior to installing Alfresco Content Services.

C. During the initial startup of the Alfresco Content Services repository.

D. During installation before the application server starts.

ANSWER: C 

QUESTION NO: 3

Which of the following APIs facilitate the development of a remote client that can access both

Cloud and On-Premise Alfresco Content Services repositories? (Choose two.)

A. Repository JavaScript API

B. FreeMarker Template API

C. Alfresco Content Services API

D. Public Java API
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E. CMIS API

ANSWER: A E 

QUESTION NO: 4

Alfresco Content Services defines some root objects to use with Web Scripts FreeMarker templates. Which one of the 
following objects is NOT a default root object?

A. args

B. user

C. url

D. workflow

ANSWER: C 

QUESTION NO: 5

To which content model entities can a behavior be associated with? (Choose two.)

A. Aspects.

B. Types.

C. Constraints.

D. Rules.

E. Associations.

ANSWER: A B 

QUESTION NO: 6

Share UI configuration will allow you to control which aspects a user sees. What other two things (out of the box) can be 
controlled? (Choose two.)

A. The combinations of aspects that can be applied together.

B. The aspects that can be applied based on the underlying type.

C. The aspects that can be removed once applied.
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D. The aspects a user can add.

E. The aspects that are mandatory.

ANSWER: A B 

QUESTION NO: 7

Which of the following is NOT an out-of-the-box root scoped object in the Java Script API?

A. space

B. log

C. document

D. companyhome

ANSWER: B 

QUESTION NO: 8

Which searches are possible to execute with CMIS 1.1 cmis:item support on Alfresco? (Choose two.)

A. select * from cmis:item

B. select * from sys:base

C. select * from rule:rule

D. select * from bpm:package

E. select * from cm:person

ANSWER: A E 

Explanation:

References: https://docs.alfresco.com/5.0/pra/1/concepts/cmis-1.1-item-support.html

QUESTION NO: 9

If an object is moved to a different folder, what will happen to the node’s security permissions?

A. It will inherit the ACL from the new parent folder.
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B. It will inherit the ACL from the user who is moving it.

C. It will inherit the system wide ACL.

D. It will keep its old ACL.

ANSWER: A 

QUESTION NO: 10

In Share the Document Library defines a number of “action groups” which determine the actions shown to the user. What 
would determine the action group used? (Choose two.)

A. The type of node.

B. The aspects applied to the node.

C. The mime type of the node.

D. The status of the document.

E. The current user.

F. The view currently in use.

ANSWER: A F 
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